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How many ATP equivalents (ATP; GTP; UTP) does a hepatocyte overall gain or lose in each of the
following processes:

Glucose to two pyruvates*l

Two pyruvates to glucose G -&
Glucose to ribose-5-phosphate @ = {
One glucose added to glycogen - 7).
Glycogen to one glucose O

How many reducing equivalents (NADH or NADPH) does a hepatocyte overall gain or lose in each of
the following processes:

Glucose to two pyruvatestZ

Two pyruvates to glucose = Z
Glucose to ribose-5-phosphate 4,2,
One glucose added to glycogen ¢
Glycogen to one glucose O



